SE =B &b % A (HE) BAimm
1 T+E#7 F12 1.2
2 B/A F12 1.2
3 3 F12 1.0
Lo | RmRANERN F12 1.0
5 BE Y10 1.0
6 M % Y10 1.0
7 EREE Y10 0.7
8 | ERAEIE Y10 0.7
9 Rp F12,Y10 0.7+1.0
55 2100 2100 110 5X420=2100 10 5X420=2100 55 0 | B8P F12(—#21.0/2 53152 3)
) 1 BRS )V Y10 05
a PIEEN F12 0.6
i\ 13 | E@/NNRIL F12 0.7
< e F12 08
. . . 2 o 15 | WK F12 0.6
i 4?'(7 I i ! ! Mi o3l ) ey | &l 2 FI2- amE® > SRS G 3302)
! | ! i ! ! i I il e Y10~ BREE -5%7)I 2D AEED > FMIRIIS G 3317)
T 11 11 11 [
3 X\ | ff ! | it ! 1 ot
Lo | | S ] e | S ] S J
Cﬂ‘ Lﬁ'—hﬂm—'——r_ Lﬁ-—-—uﬁ—'——-—-—r Lﬁ'—hﬂ-—-—ﬁ—'——‘l
o —= Py —= o —=
AOROSE O AYREOSBEO AROSEO "
12718 12778 12718 N
| 2210 2210 2210 2210
1510
N x 2210 +100 60 HAMNTIE1370 80
50 FANEE N x 2210 50 gj\ 1000 _
1\ -
i ‘\;\\ i‘ i‘ i ] —
o
l\
\ =
LI i)
g o| i PN
ﬁ g s g = S
M|
mE
=
s
7GL i - -
\ -
N

NOO09 <

> S5=1/40

o N(

1278x 1770(mm)
)x 3.03 (092 )




